1.  Which of the following statements are true about Judicial Review?
(i) The doctrine of judicial review originated and developed in the U.K.
(i) The Constitution of Indian confers the power of judicial review on the judiciary.
(iii) The power of judicial review cannot be curtailed even by a Constitutional amendment.
(A) (1) and (ii) are true (B) (i1) and (iii) are true
(C) (1) and (iii) are true (D) (1), (ii) and (iii) are true
(E) Answer not known
B8 Yeorpmuley Lmmiw SLbé & meoor LB 6UTeHS U mISG6 6 61gl/eTemel & iflWLIMeTem6u?
(1) B9 yeorgrmuieys Camlumip w.Css. (UK. Camermiwg Lnmmild @ (heumesLIUL LG
(i) @BHW TFweemwlL BHSSIMDEES BHLTTTIIC AHB&TTHMS QUPE GH DS
(ii) B% Herpmie) ASSMTISHMS SATHWeemLL HBSSD LI GmDES (PIGWNS!

(A) () womib (i) &if (B) (ii) wmauid (iii)
(O () wmouid (iii) &l (D) (1), (ii) whoib (iii) &
(E) allemL s flwelevemey CCS2E/2022

2.  Which of the following statement with respect to the Indian President’s power is/are correct?
(i) Money bills can be introduced in the Parliament only with his prior recommendation.
(ii) When the financial stability or credit of the nation is threatened, the President can
declare the Financial emergency.

(iii) The President is not answerable before any court of law for exercising the powers and
duties of his office.

(iv) The administration of Union Territories is the responsibility of the President

(A) (1), (iii) and (iv) only (B) (i1) and (iii) correct

(C) () and (ii) only (D) (1), (i1), (iii) and (iv) correct

(E) Answer not known

LNedTeu(pLD FommiGerflev @B W ReaTTH LS SH&TISH 60 61Sl/6Temel &FiflLIMeTsI?

(1) suwrss semeveurflear weTuflbgenTuLer WLLGGCL Lol LCFMSHTEHSM6T
BTLIEGO6TMES L HMW&ELILGSS LPGU|LD.

(i) BrLIger BISH BleneuS ST S0V LT AFHFMGHNEG 2 6TaTMGIH CUMSI
GUWTHFSSHmeval] HIS SjeusFrplencenul Mlel&sss Wigujb.

(ill) BGQWTFSSHM6VET TS VUGS FHET AFGMTTHIGET IDHMID HLenNSHEm6TLI
LweTUBG S SHeUSMES 6THSQ6UTIH HSH NTME S 6T (6T QLImMILILITeT] 3j6vev.

(1v) wesflwerr KNFCsamiIseTleT BITaUTHSEH MG &9 UITEES5M6VaIT GLITMILILITET6 T

(A) (1), (iil)) wmHoub (iv) LLEEGW & (B) (i1) mmomub (iii) . @GGw &l
(O () womid (i) L EEW &if (D) (i), (ii), (iii) woaud (iv) &ifl
(E) allemL s flwelevemey CCS2E/2022

3.  Which of the following statements are true about fundamental duties?
(i) Fundamental duties are laiddown in Article 51-A of the Constitution.
(ii) 86t amendment Act, 2002 added 11t fundamental duty to the list.
(iii) To develop scientific temper is not a fundamental duty.
(A) (i) only (B) (ii) and (iii) only
(C) (1) and (ii) only (D) (i) and (iii) only
(E) Answer not known
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QLI HLMNGET GMIGS5E BLOSTEmIN 6THS QETMHOMITLTEH6T &iflWImeTeneu?
(1) SIgluemLs &LmWG6T ITFFRwevannliler allF) 51-A @6V Q&THHEHLILIL(H 6T
(i) 11eum SQliLeL SHLewenl 8661d HHSSEFFLLID 2002 60 LLIguIedlev

CesH&LILIL (B eTeTS.
(iii) @Ml W6 LDEOTLILITEITEmN MU QUETIE S 6V 62(H L9 L1LIEDL &L 6MLOUIEV6V.
(A) (i) LLEW (B) (ii) wmomib (iii) oL Gb
(©) () wmoib (i) LLEW (D) (i) wmob (iii) L @w
(E) allemL s flwelevemey CCS2E/2022

4. ‘Kitab-I-Nauras’ is a collection of the poems of

(A) Ibrahim Adil Shah - 11 (B) Ahmad - II

(C) Tajud-Din Firuz (D) Muhammad - II

(E) Answer not known

"G & L1-@)-H6UT6eN" 6TedT LIGI eTeoTLI6ufl6dT LITL 6L & 6rfledT Q& MEGLIL] HIT6L

(A) @UevorLmid @LITTSHID 196V aq.IT (B) @pevorL_mib &|&HL0 S

(O) sTRWs-56r GQLEm6 (D) @p6uoTLITiD (D& G

(E) allemL s flwelevemey CCS2E/202
5. Buddhist poet Asvaghosa wrote ‘Buddha Charita’ in language.

(A) Prakrit (B) Pali

(C) Urdu (D) Sanskrit

(E) Answer not known

LSS &allEehl 26vealBGasmaql "Lss Fiflens” enll QUMAUI erp& 6o,

(A) Npr&msLD (B) umed

(QF-N(,¥- (D) g6V &BSLD

(E) allemL s flwelevemey CCS2E/2022

6. ‘The Cultural Development is characterised by intellectual, aesthetic and spiritual
attainments’ Who said the above statement?
(A)J.S. Mill (B) S.M. Fairchild
(C) Max Weber (D) Tansen
(E) Answer not known
"GHOMTEEFTT  QUeTIFF et 0l PHUIL WHMID LTSS &S0 ETIT6Y
amSLILGSSILORMSI" 6T60Tm GLOME600TL FnMMI WITIH DL LISI?

(A) Gg.e1e1v.1860 (B) etenv.6TlD.&CLITe &6 (H)
(C) Gusen Qeuliury (D) LmeorGFeor
(E) ellemL s flwelevemev CCS2E/2022

~.  Choose the incorrect match :
(i) Suba - Sipahsalar

(i1) Sarkar - Faujdar
(iii) Pargana - Shiqgdar
(iv) Village - Bakhshi
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(A) (i) and (ii) only (B) (ii) only
(C) (iii) and (iv) only (D) (iv) only
(E) Answer not known

QUMBSSHLD @eVeVTHMMME CHTHG S M &8 6]LD:

(1) &um - FUUTFmeLF

(i) sgesTy - QUeTRST

(i) ugssmeorm - Gl 3::10))

(v) ®gmwm - L1 &ad]

(A) () wmomub (ii) WL @GID (B) (i) oL @b

(C) (iii) wmoitd (iv) WL @GID (D) (iv) L (b

(E) allemL s flwelevemey CCS2E/2022

8. Match List-I with List-IT and select the correct answer:

List I (Place) List-1I (Excavated by)
(a) Chanhudharo 1. Aurel Stein

(b) Kulli 2. J.P. Joshi

(c) Rakhigarhi 3. Majumdar

(d) Dholavira 4. Amrendranath

LUliquien-I &g uliquiev-II 2 Ler Qumpss SCwp MLl Berter &GMlui(h &emers
Q& mevor(h Fiflwimerr ellemLemuwls CHITHE S &&HaLD.

UL g wev-I (@LLb) UL g wiev-TI (G mevor L LILIL L&)
(a) smerasTIMT 1. 94T6V 67VIe 60T

(b) @evedl 2. J.P. Ggmadl

(c) pr&@sman 3. B sy

(d) @smevaligm 4. OCTHHTHTS

@ ® @ @

A) 2 1 3 4
(B) 3 1 2 4
© 3 1 4 2
(D) 4 3 1 2
(E) Answer not known CCS2E/2022

9. Choose the right answer among type:
Which of the following statements are true about Eleventh Five Year plan of India?
(i) The main focus of this plan was towards faster and more inclusive growth.
(ii) This plan stresses that benefits of development should reach all sections of population.
(iii) Increased rice production in the eastern part of the country.
(A) (i) only (B) (i) and (iii) only
(C) (i) and (ii) only (D) (ii) and (iii) only
(E) Answer not known

www.vetriias.com 9884421666/9884432666 3



http://www.vetriias.com/

FELE ST Fammisefley Fflmearens CSHIHG S (&8 6]LD.

@S wmelledr USHQeTmarmmaugs SBSTorhsS HLLSmnsll ummdlu  Llereu@mld

FaMmiseflev eT& SFiflulmeorg?

(1) Qbss FLLEH T (NEHHUW Halerld ellemIeUmeT IDMMILD 2 6TeTL &SR U aUeTIFF emul
CHMTHERUSTEH @ (HHSS.

(i) euemT&FRUINET LI6VEITSHET MeTHSIS STLIL D&HSm6eTUD QFaTmenL W Geusoor(hLd
eTeTLINS @ 65S S L LD euedlumsaEmal.

(iil) Bl Qe SPp&HGL LGB &6 & 2 HLSS S &S5

(A) (1) L@ (B) (1) wommitb (iii) L @GIb

(©) () wmoib (i) L @G0 (D) (ii) wmoiid (iii) L @G

(E) allemL s flwelevemey CCS2E/2022
10. The largest west flowing river of peninsular India is

(A) Mahi (B) Sabarmati

(C) Narmada (D) Luni

(E) Answer not known
FusmHU @bHumeller CLmE CHTEHERL UMb WsUUlw B erg?

(A) wand (B) sujng)
(C) ByST (D) syrreot]
(E) eflevL Qs flueievemney CCS2E/2022

11. Two exactly similar wires are stretched by the same load. Their elasticities are in the ratio
5 : 3. The ratio of their elongations are
A)3:5 (B)5:3
(©9:25 (D)25:9
(E) Answer not known
@\(h 25 &HLDLINGHET FLO |66 6ITET 6Tem LT &L1985 QS MHIGeI L LILIL (h 6TemeoT. 261 m nledr
WSS UIw6L Gevoramigerfler @G 5 : 3 eTevflev SibLNsefler HLG aNG GLD eTedTe0r?

A)3:5 (B)5:3

(©)o9:25 (D)25:9

(E) allemL s flwelevemev CCS2E/2022
12. Human blood grouping was discovered by

(A) Landsteiner (B) Punett

(C) Correns (D) Muller

(E) Answer not known
D6l 18 @ THS 616N 886068 85600T L M6 61T

(A) GevedTL_6NVIC6TOT [ (B) LeTQ6oTL

(C) Gamm@yeoTeny (D) @wpeveuy

(E) allemL s flwelevemey CCS2E/2022
13. In the collective model of the nucleus, the shape of nuclear core is

(A) non-spherical (B) Spherical

(C) Semi-spherical (D) Circular

(E) Answer not known
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G EHEHNET Fallh WLITHF LNy AEUEHT (THHMHU QIS L

QUMM(HEGLD?

(A) Gamerm aulgeUlD MM (B) @& aUlgallD

(C) e g&GaITeT allg6lLD (D) aul_L aulgeuld

(E) eflev Qs flueievemney CCS2E/2022
14. Assertion (A) : Science is complex, Abstract and multi faceted discipline.

Reason (R) . Scientific knowledge is concrete theoretical and synthetic.

(B) (A) is true, but (R) is false

(B) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(C) (A) is false (R) is true

(D) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(E) Answer not known

Famml (A) o gnefluey HEseumeT, SHSTIUIEVTET MM LGNS S S 60TenLN &
@\ & T600T L 606U WIMGLD.
srgeoord (R) :  oymlellwiev 9jniley eTedTLIg!, LIGLIQUTH6T, CamLUm@ LmHmiLD

QTGS LIL (LNEMEEMET 2 _6TeTL & & W Sl
(A) (A) sflwumeorgl, apeormev (R) seummeorgl.
(B) (A) b (R) b &1f], (R), (A) el ssmeor &ifluiment elemgsas10.
(O (A) sauprergl (R) srflwmeg
(D) (A) b (R) b &ifl, gpeormev (R), (A) el & smeor Fiflulmeot aflemdgL0606v
(E) allemL s flwelevemey CCS2E/2022

15. Match the following

(a) Apospory 1. Development of sporophyte directly from the gametophyte
(b) Apogamy 2.Fruit formation without fertilization of ovules

(c) Parthenocarpy 3. Development of an embryo from an unfertilized egg cell

(d) Parthenogenesis 4. Development of gametophytes directly from the sporophyte

FELDESHETLaIMenN QUTHSSIS :

(a) oiiGUmerGUITH 1. GaILCLTemLL 1969 (BB GBI UIMS
LBUMGTMeMLIL. 2 (HheUMG6US)

(b) oLiIGUMGsLA 2. &([HEYMTLO6 LIPID 2 (HeUMGeusg!

(o) unrFsHCeormamFLI . HHYMTS WL QF60606NBHES &(H 2_([HeUTeUS!

w

(d) urFsHCaTTORa A6 4. eVEUTETTULLGeNBHS CHIQWTsS CHLILCLTemnLIL

2 _(HeUTeUSI
@ Mm @ @

A) 2 B W O

(B) o @ 6 (@

© @ 1 @ 3

(D) 2 @W @ @

(E) Answer not known CCS2E/2022
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16. Which of the following are correctly paired?

(1) Kaprekar - Astrophysicist

(2) Janaki Ammal - Biologist

(3) Debashis Mukherjee - Chemistry

(4) Meghnad Saha - Mathematician

(A) 1 and 4 are correct (B) 1 and 2 are correct

(C) 2 and 4 are correct (D) 2 and 3 are correct

(E) Answer not known
LY etreupeusoreummlev eTemer FrflwmssL QUTIHSSLILIL (R 6Tersi?

(1) sLUGTsTH - aUmeofluley @WwimLIwieumery

(2) ’meTH: SDLDTET - o uWlflulwevmery

(3) g umedlen Wi - GauGulwevmery

(4) C&BMTE FMaMIT - &Heoofl & el Wevmery

(A) 1 DHmILD 4 FiflwmeTemeu (B) 1 nmmiid 2 Fiflwimeremeu

(C) 2 nmmId 4 FiflwimeTemel (D) 2 nmmith 3 Fiflwimesreme

(E) allemL s flwelevemey CCS2E/2022

17. World Youth Skills day is celebrated on :
(A) March, 15 (B) May, 15
(C) August, 15 (D) July, 15
(E) Answer not known
2 V5 @)EMETEHT HM6T FHeoTld Q& Mevor LT LILIHOEM BT6iT

(A) broE, 15 (B) G, 15
(C) @psenul, 15 (D) eg®6mev, 15
(E) allemL s flwelevemev CCS2E/2022

18. The first Indian male Badminton player to win a silver medal under men’s singles in the world
badminton Championship was
(A) Kidambi Srikanth (B) Parupalli Kashyap
(C) Sai Praneeth (D) Pullela Gopichand
(E) Answer not known
2 Ve YlLalf el @m&UUBSTLL Fmollweradlls GuMLigsefley QeusTerflLl
LSS QeUsTm (NSH6V @HFIUI ,600T @M&SLILBSTL L ellememwiml () efyF

A) LTl Waerbhs (B) urr@ueierfl sadlulL
(C) sl Yyeoofs (D) LyevGevev CaHMLIFHS
(E) ellemL s flwelevemev CCS2E/2022

19. Arrange the following in descending order of amount receipt in budget estimates 2022-23 :

(i) State excise (ii) Stamps and registration fees
(iii) Motor vehicles tax

A) (@), (i), (iii) (B) (i), () (i)

(C) (i), (1), (i1) (D) (ii1), (ib), (1)
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(E) Answer not known
2022-23, BBl NGamsulledr GHMTIMW WHLIND BpsHseorl LHNFFL ()
Q&M &L @MEIGeflengullev eT(pgIs.

(1) wrElev &evmev aurf] (1) WwsH e WMHMID LIH 6| &L_L6orld
(iil) Gy eumgeoreuf

(A) (1), (i1), (iii) (B) (ii), (i) (iii)

(O) (i), (1), (i1) (D) (i), (ii), (1)

(E) eflenL Qaflueilsvemey CCS2E/2022

20. Which of the following statements are correct?
(i) The nominal GSDP growth of TN is estimated to be 14.0 percent in 2022-23
(i) In the TN budget estimate 2022-23, the fiscal deficit is estimated at 3.63 percent of

GSDP.

(iii) The outstanding debt as a percentage of GSDP is expected to be 27.76 percent in
2022-23

(A) (i) only (B) (ii) only

(C) (1), (ii) and (iii) (D) (ii) and (iii)

(E) Answer not known

LNedTeu(Ld Fonmmiserflev siflwmereumenm C&HIHOS M

(i) 2022-23 6 suUpBTLQer QuUwyeteley GSDP  eauempd& 14.0 &FHeisI0MS
SHOTEHEHLLILOSH M.

(i) 2022-23, sUWWLBETH BISBlmw AMGmHEUNET CHTFTWWSLIL BISLILHMTS
&emnmuilev (fiscal deficit) GSDP 3.63 5655108 &evorsH L LILIGSH MS!.

(iii) 2022-23 60 GSDP Wletr Fx6ig0ma BHlaeneaiulaieTer sLer (outstanding debt) 27.76
FHIHIOMS THTUTISESELILGSR MmS!.

(A) (1) L@ (B) (i1) @b
(O) (), (ii) wmmub (iii) (D) (it) wooid (iii)
(E) allemL s flwelevemey CCS2E/2022

21. Which of the following is NOT a feature of the joint family system?
(A) Authoritarian structure (B) Familistic organisation
(C) Individualistic identity (D) Depth of generations
(E) Answer not known
LY edTeupeUeoTelMMIET 678l Fol (h& GMH DL SemDLILN6T QD& 3 6V6v?

(A) FTaumH &M jemoLiL] (B) @b SemInLiLy
(C) mevflnenfls 6oL WmerTLd (D) semeupemm&H6rfledT 2_6Tem M HS &6oTemLn
(E) allemL s flwelevemev CCS2E/2022

22, Tamilnadu housing board and Tamilnadu urban habitat development board were created in
(A) 1961 and 1970 (B) 1951 and 1960
(C) 1970 and 1960 (D) 1960 and 1951
(E) Answer not known
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sULBTH ofLG auFd eumflubn wmmib SWp BTE BHFLLM eumpelll GumUmL(®
aumflwid 2 HeumsssLiLL L 3,600T(h

(A) 1961 IDMHMILD 1970 (B) 1951 lomMmiLh 1960
(C) 1970 LbMHmILD 1960 (D) 1960 dmmid 1951
(E) eflev Qs flueievemney CCS2E/2022

23. Which of the following statement is/are true of Free Drop Back Service Janani Sishu

Suraksha Kariyakaram (JSSK)?

(i) JSSK started as a pilot project in Tamil Nadu by TNHSP

(ii) Drop Back vehicle can transport mother with babies upto one year

(A) Only (i) (B) Only (ii)

(O) Both (i) and (ii) are true (D) Both (i) and (ii) and false

(E) Answer not known

DeTe0l] Flag™ &HIgqm SMTflWsTh Geveus 19Tl Gusd (Free Drop Back) GCaemeuuiev

LN6dTeU(BLD T M MG 66V 6TSI/6TE06 _6T0T6mLN?

(I) JSSK  speorar TNHSP-ou60  SUADBILIQL @@  WerCermy S LTSS
QSTLRSLILL LS.

(1) 19oml GU& UMSHETID (H QUG GLPHMNGS MWD STenU|bD Q& Teor(H GFeuey aull
UeN& Q& W LI (HeTeTs.

(A) (1) LLEW (B) (i) L@
(C) (1) mmouid (ii) @pevor(hLD 2_600T60ILN (D) @) wmmith (ii) @revor(HLD &6 M TEOT6m6
(E) allemL s flwelevemey CCS2E/2022

24. Virudhunagar Sankaralinganar, involved in an indefinite hunger strike to rename the madras
State as Tamil Nadu and died during
(A) 1956 July (B) 1956 October
(C) 1965 July (D) 1965 October
(E) Answer not known
IDGTME MBleVDd, SLAWBITH eTeoTm QUWIF mmm Celevorlq eN(HSIHSHT & higTe0 g 60T T
2 _eooreoor el OGBS 2 WY SIMHS aetor(H

(A) 1956 &2®em6v (B) 1956 186U
(C) 1965 &2®6m6v (D) 1965 o166 mUF
(E) ellemL s flwelevemev CCS2E/2022

25. Who was the author of the book “Oppressed Hindus”?
(A) M. Palaniswamy (B) R. Veeraiyan
(C) P.V. Subramanian (D) M.C.Rajah
(E) Answer not known

"@(NSHHLILILL @hSI&HE&6T" 6TeoTm L&HEH &5 H 60T S fluiF wimy?

(A) M. upesflemid (B) R.efyuiuwiesr
(C) P.V. &9y Lo evof wi 6ot (D) M.C.yrregrr
(E) allemL s flwelevemey CCS2E/2022
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26. Which one of the following is not the achievement of Justice Party Rule?
(A) Passing Communal G.O. of 1921 and 1922
(B) Creating Public Service Commission
(C) Granting Voting Rights to Women
(D) Non-Cooperation Movement
(E) Answer not known
G & 5600 LU M6V 6Tl DL QLD BH & 6L G UN 60T &S 6m60T 2{60607?
(A) 1921 LDMHMILD 1922 — (D L,600TLY.60T 6U(EGLIL|6UTE | TEFT60)600TSHEM6 HlenmGeum mlul gl
(B) oyy& Leooflwimery G&IeUmemeoor LD 2 (HeUm&aLILIL L gl
(C) QUETITEEBSG aUMHGlemD eULPMBISLILIL L
(D) @5 s16empulmenin @ uldhsI0
(E) eflevL Qs fluaievemney CCS2E/2022

27. Which of the following journal is not associated with Subramaniya Bharathi?
(A) A New Daily (B) Vijaya
(C) India (D) New India
(E) Answer not known
ECL QHTHSHSLILL B 6TeT @SLhaefley, 61al &LITneoflw LTFHUL6T QSTLTL 6L WS

3|6V6V?

(A) g Blw, QL6 (B) ellgguurr

(C) @B wm (D) Blu, @BSwm

(E) allevL Gz flwelevemney CCS2E/2022

28. Who are the ones who brave the FATE?
“Oozhaiyum uppakkam Kaanpavar” — yaar?
(A) Learned (B) Young people
(C) Deligent people (D) Lazy people
(E) Answer not known
"2aTemOULD 2 LILIGH&HLD &TeooTLIeU” — WIT?

(A) smeTGMITH (B) @emer@Guurmiy
(©) Lmupwm 2 e CwImy (D) GamGum
(E) allemL s flwelevemev CCS2E/2022

29. What Thiruvalluvar says are the qualities of an Ambassador?
(A) Knowledge, Origin, Education
(B) Love, Knowledge Clarity of speech
(C) Duty, knowing the fitting time, Knowing the place
(D) Purity, Resources, Courage
(E) Answer not known
& (b SNSI6)60160T & 600TMhIG 6T MTH S B (HEUGTEBT 6TalMeNME Sn NGB MTH?

(A) siffley, GaMOHMLD, Heve (B) si6t1Ly, sipley, O sellbs Cu&s
(C) sLem, &meunMIs 6L, @)L MG 6V (D) gruiemin, slemetoremln, Slevofley
(E) eflevL Qs flueievemney CCS2E/2022
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30. What is the meaning conveyed through the word “extinguish”?
With ghee extinguish fire!
It will prove harder by scandal to extinguish love.
(A) Life (B) Put out
(C) System (D) Expertise
(E) Answer not known
"QBITUIWITE 6TflSISIIGLLD 6TTMMHMITEL 68 6ITem 6 U6V
SO BIGILIGLILD 6T60T6L"
6T6OTERILD G M6rflev “ BIGILIGLILD" 6T6dTLIS 60T G\ LITIH6T

(A) w6 (B) sieflgz60
(©) wemmenin (D) uulevaemLemin
(E) allemL s flwealevemey CCS2E/2022

31. Which moral text is exclaimed as ‘Velaan Vedham”?
(A) Thirukkural (B) Asarakovai
(C) Proverbs (D) Naladiyaar
(E) Answer not known
"Geu6rmeooT Geug LD eTeoTLl GUIMMMLILIGLD HH HmITeL @ &

(A) D\m&H&meT (B) 9u5mrs Comenel
(©) upaumy (D) mmevlqwimy
(E) eflevL Qs flueievemney CCS2E/2022

32. In which excavation site Sir. Mortimer Wheelar used scientific and soil layer method?
(A) Pallavaram (B) Attirampakkam
(O) Arikkamedu (D) Kaayal
(E) Answer not known
61HS GLaMITUFSR LGHUleL 7. Crilgg efeu] el wmmilh et O &S
(WenmenUWL] LIWeTLM &S eorm?

(A) U6veLTEUTLD (B) 9168\ JbLIME D

(©) 9fl&&G8ILEMH (D) ssmwiev

(E) allemL s flwelevemey CCS2E/2022
33. Match the correct one :

Party Founder

(a) Swatantra party 1. Sohan Singh Bhakna

(b) Gadar party 2. Motilal Nehru

(c) Swaraj party 3. C. Raja Gopalachari

(d) Forward Bloc party 4. Subash Chandra Boase

gilwneramenms CHIHES0.

&G 151 0016 60T [

(a) x5BT &6 1. GFM&H60T FIBI LIG60TIT

b) 57 &L 2. GLTHevTeL CH(H

(o) rwpTRW &6 3. .oy Camumengsmif
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34-

35

36.

(d) urgeul_ Yerma &L & 4. &UMeq FHSH T CLITev
@ m @ @@

A) 1 2 3 4
(B) 2 1 4 3
©) 1 3 4 2
() 3 1 2 4
(E) Answer not known CCS2E/2022

When the Government of India had decided to appoint a One Man commission of inquiry to
inquire into the circumstances of the disappearance of Netaji Subhas Chandra Bose. In 1945

‘s name was recommended by the then Chief Justice of India.

(A) Srinivasavaradan (B) K.K. Ghosh

(C) D.K. Roy (D) G.D. Khosla

(E) Answer not known

@19 1945 0 CHaHTY &HUTAY FHHT CUMEV LOFLOOTET LemMUl GMUICLUISMSS

QBMLIbS @B bUJ GWsHEmeamunullear & ellemrae bLSHHeICHOT @b W

STFMHEIGN WPWIQa(HEHS FLWSHO IaTanmil 2 FFHHNETD SHenevenn HEHLS
6L QUWENTLI LUl SIS STH.

(A) WfBlaumsaurseor (B) K.K. Gsmeq

(C)D.K. gmul (D) G.D. Gsmeveurr
(E) allemL s flwealevemey CCS2E/2022

Muhammadan Literary and Scientific Society of Calcutta was organised by

(A) Amir Ali (B) Dudhu Miyan

(C) Abdul Latif (D) Shariatullah

(E) Answer not known

QameusssTaller WasLGHWleadr @esHwid  wmmih Mlellwiey jemnlienLl

goOUBGSSweur

(A) o187 2160 (B) s181ain LAWIMeoT

(O) s103160 GG L (D) egflwggisveumam

(E) allemL s flwelevemev CCS2E/2022

The objective of Tenancy reform is

(A) Abolition of Intermediaries

(B) Increase Rural Literacy

(C) Regulation of Money Lenders

(D) Eradication of Rural indebtedness

(E) Answer not known

BVEGHSHME ETHHEHSF FLL&H 6T &M &HECHTeT
(A) @@L SHTHTSHMET h&EG e

(B) @ gmwliym seallwmlenel & sHlLiLg

(C) sL6tT aupmIGUEUTHET (PMLUILIH S SI6USI
(D) S pmoym &L 6T Sremlnenl eLOlILILIG
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37

38.

39.

(E) allemL s flwelevemey CCS2E/2022

Which one of the following is the function of the Finance Commission of India?
(i) Allocation of the shares of net proceeds of taxes

(i1) Laying down principles governing grants-in-aid

(iii) Looking into the financial relation between the centre and the state

(A) (1) and (ii) (B) (i), (ii) and (iii)

(C) () and (iii) (D) (ii) and (iii)

(E) Answer not known

LY edTeu(peusoTreumnilev @\ HS W B16 26006007 UGS 60T QFWeLLIT(H 6TSI?

(1) eurflaserfletr BlaT 6UeumuUlledT LG e6rleor 6188 H)

(i1) el W biGemeT BlFeuSH & @D Q& TeTem 8 856M6lT 6E S 560

(iil) ST W WHMID LDTHlEL I T&FHEG @G 2 6Tem BIHUmenalll LIMTFLILS

(A) (1) moud (ii) (B) (@), (ii) wmmiid (iii)
(O) (1) wmauid (iii) (D) (i) wmoouid (iii)
(E) eflev Qs flualevemney CCS2E/2022

Match correctly the common name with the Genus name of nematode parasites :

(a) Ancyclostoma 1. Whip worm
(b) Enterobius 2. Hook worm
(¢) Wuchereria 3. Pin worm

(d) Trichuris 4. Filarial worm

BroLw el (heoreoflseflar GuUIfleoTll QUWIBLET QUITSIQITT QUWenT &SiflwmsL

QUMBHSSeLD.

(a) o|60TemF&HGMErVELITLONT 1. &rlenl LW

(b) ereor@GLITGrmLiNweiv 2. Q&HMEHS LW

(0) eyg@eCrrilwm 3. 6T Hw

(d) Lempsifleiv 4. SenLGeIflWIe L

@ ® @ @

A) 1 3 4 2
(B) 2 3 4 1
© 3 4 2 1
(D) 2 1 4 3
(E) Answer not known CCS2E/2022

2PJ@8$LB1V#Q65GWQ9QKCD3©e£5FR7AY4P@ListoY 75 in the same way
as$1#isto

(ADRE © (B)F £3 (C)Feg3 (D)5eD

(E) Answer not known
2PJ@8$LB1V#Q65GWQKCD3O©e£ES5FR7AY4A4P@Letaiug Y75 ereirmy
GMGSELILLLT $1# eTeoTLISI eTeleumm GMISSLILIMILD?
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40.

41.

42.

43.

(AJRE£© (B)F £3 (C)Fe3 (D)5eD
(E) eflevL Qs fluelevemney CCS2E/2022

If x means +, - means x , +~ means + and + means -, what is the value of (3-15 + 19) x 8 + 6?
(A) 8 (B) 4 )2 (D) -1

(E) Answer not known

X GTEOTLIG +, - 6TEOTLIGI X , + 6T60TLIGI + OMMILD + 6T6dTLIGI -, 6Tevtlev (3-15 + 19) x 8 + 6 @)60r
LG LIL] 6T60T6OT?

(A) 8 (B) 4 ©2 (D) -1

(E) allemL s flwelevemey CCS2E/2022

Which number replaces the question mark for the following numbers?

(A) 21 (B) 23 (C) 25 (D) 27

(E) Answer not known

FECL QHTHESLILIL (66T eTevorderfley elleorm GMIUTL (R &L LIS 6VTSH aUIHLD 6T600T 61517

(OXORD)
OXOX®
®®O

(A) 21 (B) 23 (©) 25 (D) 27
(E) allemL s flwelevemev CCS2E/2022

Find the volume of water tank measured 10 m x 5 m x 1.5 m.

(A) 75 litre (B) 750 litre

(C) 7500 litre (D) 75000 litre

(E) Answer not known

10 1§ x 5 1S x 1.5 LS S|6me6iTeT ep(h BTG STL19UN6IT Q& TETemeTe)| UlMai?

(A) 75 60D (B) 750 69lLL1j
(C) 7500 e9L_L1J (D) 75000 &SL_L[y
(E) allemL s flwelevemey CCS2E/2022

An aluminium sphere of radius 12 cm is melted to make a cylinder of radius 8 cm. Find the
height of the cylinder.

(A) 24 cm (B) 30 cm (C) 36 cm (D) 40 cm

(E) Answer not known

12 Q&F.15. guweTer @F Sadeallug Gamarn 2 (HEHESUILULER 8 Q&F.15. SLTIN6TeT F
2 (HEmeTWTS LMTHMUILGSMSI!. 2 [Hem6TuledT 2 WIFLD &ITeoorss.

(A) 24 Q&F.185. (B) 30 Q&.114. (C) 36 Q&F.L85. (D) 40 Q&.10.

www.vetriias.com 9884421666/9884432666 13



http://www.vetriias.com/

44.

45-

46.

47.

48.

(E) allemL s flwelevemey CCS2E/2022

Which among the following is the simple interest for the principal of 1,000 for one year at
the rate of 10% interest per annum?

(A) %700 (B) %500 (©) %150 (D) z100

(E) Answer not known

ereu@meueoreummley  e1& T1,000 FNESHTH @IToT(h&HEE 10% eaearm  of555 60

Seofleul_1Q UIm@GLD?
(A) %700 (B) %500 (©) %150 (D) 100
(E) allemL s flwelevemey CCS2E/2022

If the simple interest at the rate of X% per annum, for x years, is ¥x, then the principal amount
is

(A) 2x B) (") (C) R100x (D) 2%

(E) Answer not known

@ SLETITIYMES, X% Ul 19 675556V, X - 0T(HHEHHEG HeML &G0 SHeoflaul 1q af5LInmerg!

TX 6T60fl6L 31&F 6060 DG LIL] LG LD.
(A) X (B) a(%) (C) z100x (D)2
(E) eflevL Qs flueievemney CCS2E/2022

If2x+3y:3x+5y=18:29thenx:yis

(A)4:3 (B)3:4 (C2:3 (D)3:5

(E) Answer not known

2X + 3y : 3X + 5y = 18 : 29 eTevfl6b X 1 y eTedTLI S

(A)4:3 (B)3:4 (C2:3 (D)3:5

(E) allemL s flwelevemey CCS2E/2022

If 5: 6 =x: 12. Then the value of x is

(A) 10 (B)6 (©) 12 (D)5

(E) Answer not known

5:6=x:12 6renfl6v X — 60T LDGHLIL

(A) 10 (B)6 (012 (D)5

(E) allemL s flwelevemey CCS2E/2022

What is the greatest possible volume of a vessel that can be used to measure exactly the
volume of milk in cans (in full capacity) of 80 litres, 100 litres 120 litres?

(A) 20 litres (B) 25 litres (C) 30 litres (D) 4o litres

(E) Answer not known

Wweasinrmss BIFtuliul®eter 80 S LF, 100 O LT MHMID 120 ST Q& TeTeTere]
2 6Tem  Heverskefley Limedlemenr FflWME NeMHESHEHFQW LUTSHTSHOT AH&HULFEH
Q&SITETETETE 6TEURIETEY?

(A) 20 Ol L&seT (B) 25 L F&seiT
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49.

50.

51.

52.

(C) 30 &6t (D) 40 L LF&eT
(E) eflevL Qs fluelevemney CCS2E/2022

Find the HCF of a3 — gax2, (a — 3x)2.

(A) (a2 — 9x?) (B) (a-3x)?

(C) (a3 — 9ax?) (D) (a—3x)

(E) Answer not known

a3 — 9ax2, (a — 3x)2 @& WeummleT WSLIQLIIH QLTSI 6UGS 5 60 &IT600TS.

(A) (a2 - 9x?) (B) (a-3x)?
(C) (a3 — 9ax?) (D) (a - 3x)
(E) allemL s flwelevemey CCS2E/2022

Kumar borrowed 352,000 from a money lender at a particular rate of simple interest. After
4 years, he paid ¥79,040 to settle his debt. At what rate of interest he borrowed the money?
(A) 12% (B) 13% (C) 15% (D) 11%

(E) Answer not known

STy eeTUal @ GUILLILL Seflaul g elHss5H 60 752,000 SLOTTHL QUOHOTT. 4
,0T(H&HEHHGL LIMG SH60T8 HLOIESHTE T79,040-0F QFISH 6T 6T6oflev, 6TedT60T
AL 196755560 3jaUl &L 60T QLIMMIETETTI.

(A) 12% (B) 13% (C)15% (D) 11%
(E) eflevL Qs flueievemney CCS2E/2022
Match the following

Subject Year

(a) Commission of Inquiry Act 1. 1968

(b) Central Civil Services (Conduct) Rules 2.1850

(c) Public Servants (Enquiries) Act 3.1964

(d) All India Service (Conduct) Rules 4.1952
FELDESHETLaIMeNN QUTHSSIS :

QUITBET (FLLLD) 21,6007 (h)

(a) e mreneoor 9L,6m6oT LIS &L L LD 1.1968

(b) LEH WS G DLl LIcool1&H6T (5L &6 &) el &6t 2. 1850

(c) QUL LieoofIWIMeTF&H6T (6 & MFem6uoTdH6T) &FL_L_LD 3.1964

(d) 1% 6ev @HBHW Lictol15&6T (FL &6 &) el seT 4.1952
@ b @ @@

(A) 1 2 3 4
B) 4 3 2 2
© 4 2 1 3
(D) 3 1 2 4
(E) Answer not known CCS2E/2022

Which of the following is/are correct about Cantonment Board?
(i) Itis delimited area where the military forces are permanently stationed.
(ii) It does not work under the administrative control of the Defence Ministry.
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53.

54.

55-

(iii) They are grouped into three categories.

(A) (1) only correct (B) (1) and (ii) are correct

(©) (1) and (iii) are correct (D) (iii) only correct

(E) Answer not known

G600t GLMeoTQLN6TL. aumfluugemn gLl Limnl & Lp & &600TL_euMMI6T 6TSl/6Temal &Fifl?

(1) pmemeabd uenTWMIGSHLILLL @6auellLEH 6V BFHSTITSES BlosSs UL [HEELD
(1) umsIsTLIL SWEFFSHSH 6T &L HILILIML 6T S @& QFwe6 Lifleudevenev.
(i) @ emeu eLnetTm QUG &TTSHL LNfléaLiLL (heTers..

(A) (1) wLG\w sflumears (B) (i1) nmouid (i) Frflwmers
(©) (1) wmouid (iii) Frflwmeremeu (D) (iii) (b Fflwmers)
(E) allemL s flwelevemey CCS2E/2022

Which Constitutional Amendment inserted Article 43B for promotion of Co-operative

Societies?
(A) 42nd Amendment, 1976 (B) 44t Amendment, 1978
(C) 86t Amendment, 2020 (D) 97th Amendment, 2011

(E) Answer not known
THSATR WL HHEHESHF FLLID Fal hMe] SFHISGHIGM6T 2618 EGaILILSMNHEHTSHL
L116y43B -emw G665 51?

(A) 42618 DHSHEFF LD, 1976 (B) 44018 S5 1D, 1978
(C) 866us H(HSHFFL_L LD, 2002 (D) 976u81 H(hESHEFL_L LD, 2011
(E) allemL s flwelevemey CCS2E/2022

Which one of the following fundamental rights has been wrongly listed?

(A) Right to Equality (B) Right to Constitutional Remedies

(C) Right to Exploitation (D) Right to Freedom

(E) Answer not known

ECL QHTH&ESLILILL g liLemL 2 flennsefley 618 &ealmmergi?

(A) Flnggial 2_flemin

(B) 9158 weveminl1L9edr epevld He) smesniln 2 iflemin

(C) &revoTL8v18: @ 60T L_TeoT 2_iflemin

(D) &5587 2 flemio

(E) allevL Gz flwelevemney CCS2E/2022

Which among the following was not’ a nomenclature for “Union Territory” previously?

(A) Scheduled districts (B) Chief Commissioner’s Provinces

(C) Part C and Part D states (D) Peculiar central enclaves

(E) Answer not known

GsameaoliUbuamealskefley s “ermiu  LFCsamisetlear wWhHengsul QLIUITS6T
S e WmsI?

(A) sjLeusmerorwilh CoF&HsLILLL DML L HBIS6T

(B) 3600606ML0 S4,60)600T LT85 61Tl 60T LOTE5 IT600T 161 &5 61T

OC)ue® C nmHmib UGH D WrElevnkiger
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(D) sevflgsiainmeT IDSFI LGS &6t
(E) eflevL Qs fluelevemney CCS2E/2022

56. Choose the right answer/answers about the Supreme Court of India.
(i) The Supreme Court is the Upholder of the Constitution of India.
(i) The Judges of the Supreme Court hold office till the age of Seventy — two.
(iii) The Indian Judicial system consists of a single hierarchy of Courts.
(iv) The Supreme Court of India was constituted on January, 1950
(A) (i) and (ii) only (B) (ii) only
(C) (iii) and (iv) only (D) (i), (iii) and (iv) only
(E) Answer not known
QBEHW 2 555 BHaTMmHMSH GMIGHS Fiflwmer allemLenwsd CHITHOHH & &6 LD.
(1) e ssbBHWwearMD @HS W ST Wevennlienl Blene BIMISSHID emDLIL] GLD.
(i) e s5BHwearmd BH LS &H6T 72 euulg alemn LIGaNulledlLriumy.
(iil) @B W BRSHM seHemmLI LIl Blemey BHD6TM emLOLI6nLIE 618 T6ooTL Sl
(v) @bHw 2 F5BFHIneaTmID 1950, 3LLD 21,600T(H Leotalfl DTS QST MBIGLILL L S

(A) (1) wmoub (1) L @LWb (B) (ii) L @b
(O) (i) wmomud (iv) LG (D) (@), (iii) wmmud (iv) LD
(E) eflevL Qs flueievemney CCS2E/2022

57. Match the following

(a) Senji 1. Stala durga

(b) Anaimalai 2. Vana durga

(c) Vellore 3. Giri durga

(d) Panchalankurichi 4. Jala durga

FELpE& S TevoTLIIMemML QUTIHS SIS

(a) QFEH3 1. 6VGH6V SIT&HIT

(b) oyemeoTDEDEY 2. QUGTT SIT&HIT

(c) Geugyriy 3. 8l aijesn

(d) urepsmeVBEIGMIFH 4. 86V SITST

@ @ @©© @@

(A) 2 3 4 1

3B) 3 2 1 4

© 3 2 4 1

(D) 4 3 2 1

(E) Answer not known CCS2E/2022
58. Sikandar Lodi was responsible for the foundation of the city in 1504 A.D.

(A) Dholpur (B) Gwalior

(C) Etawah (D) Agra

(E) Answer not known

§.191504 @6V Bloeuliul L B&EISHNSG, FHHHSHT G QSHSHETINNS

QOGHSTY.
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59.

60.

61.

(A) Ggmevly (B) ®eumedlwiry
(CO) FLLmeumr (D) @u&om
(E) eflevL Qs flueievemney CCS2E/2022

The concentration Index was calculated by

(i) Total population and total cultivable area in terms of persons per km=.

(ii) Dividing actual population of the district by the average population of a district.

(iii) Total population be correlated to the land area weighted according to its productivity.

(A) (i) and (ii) only (B) (ii) only

(C) (ii) and (iii) only (D) (iii) only

(E) Answer not known

Qarley GMIUTH eTeueumm &Heoors&HILLILIGSH mS!

(1) e &).15%60 2_6TeT BLFSH6T S LILemLUN6L QDTS L0&S6T QS5MTend IDMHMILD QLTSS
Fr@uiguilesr LITLIL

(i) @ LTIl L&H6T 2 60oTemLIOWITEN D&SHET QSHTn&HmW S(DTall L& er Frmaif
D&EHET QBTSN U Q&TeoT(h) 6UE S SH6V.

(iil) QLTSS W&HSHET QSMTNE SSHOT 2. MUSGHES HmeusE gl BlevlIryLiLLer

Q&ML
(A) (1) moud (ii) L @ILD (B) (il) @b
(C) (i) mouid (iii) GO (D) (iii) @b
(E) eflevL Qs flueievemney CCS2E/2022
Match the following
(a) Tropical Evergreen 1. Thorny Bushes
(b) Tropical Deciduous 2. Tidal Forests
(c) Semi desert 3. Tropical Rain Forest
(d) Mangrove 4. Monsoon forest
L edTeu(peusTelMem MLl QLIMTIHSSI5:
(a) SJWIEOTLDGEOTL 6V LIG6MLDLDMTMITES &IT(H & 6T 1. WL USTE6T
(b) wieTLDETITL 6V @) eMEVWHT&H ST(H 86T 2. @586 HTHSH6T
(¢) euMEDOTL LIMT6DY6V 61 60T Gl & 6T 3. 3JWI60T LDGDOTL_6V LO6DILD&H & T(H & 6T
(d) Faitiyplevs &MH &eT 4. UBaUSSTHN ST{H &6

@ b @ @@

A 3 4 1 2
(B) 4 3 2 1
©) 2 1 3 4
(D) 4 2 3 1
(E) Answer not known CCS2E/2022

Which of the following statements are true about the location and extent of India?
(i) India is divided into almost two equal halves by tropic of cancer.

(ii) India is the second largest country of the world in area.

(iii) The latitude and longitudinal extend is nearly thirty degrees.
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(iv) The standard meridian of India passes through Bhopal

(A) (ii) and (iii) only (B) (1), (ii) and (iv) only

(O) (1) and (iii) only (D) (1), (iii) and (iv) only

(E) Answer not known

@bSwmellesr @@ULILL wmoin ugliuere &MSSIL NeTal@dh Sammiserfle e6rsl

Frflwmers?

() sLe Grevasulermey @BHWT  eratallm@ @ueordh &Sl  UGH&HeTTsHL
Wflgasliul G eTers..

(1) ugliuerelley 2 ev&etT @ IevorLmeug QuUflw BTEH @B WIT.

(iil) oILF MmmID BiHeH CreanssHEhsE @emLCul 2 6Tem @emLGeuefl BLLSL L pliusg!

195 @GLD.
(v) @bHw H L F76H5HCTems CUTLIME aUlflLIMS &L HEH QFeualD.
(A) (i) wommid (iii) L HIL (B) (i), (ii) wmmibd (iv) LD
(C) (i) wooiid (iii) LLELWD (D) (@), (iii) mmid (iv) L HID
(E) allemL s flwelevemey CCS2E/2022
62. Assertion (A) : High density lipoproteins transport cholesterol from peripheral tissues

to the liver.

Reason (R) :  The elevation of lipids in plasma leads to the deposition of cholesterol on
the arterial walls, leading to atherosclerosis.

(A) (A) is false (R) is true.

(B) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) Both (A) and (R) are true, but (R) is not correct explanation of (A).

(E) Answer not known

gamm (A) D 2 Wl LIS OSTWLUILL LUISHEIGET Limg S&saerle Qmbhsa
&HV0TVGEHGHE QGTEVENVLTTeM6VE Q& mTevor(h 6l& 6L 5 6dTM 60T.

smgeoorid (R) :  Wemmeivinmelley 2 6Tem SN serfledr GHILTEH SHineofl &eurserfley
Q&MmeveLImev  LIgaIsmE& ealflaiGsEHmg. @& U@GHS et
BULSCHTL SPDHF&G 6ol & SH&H !

(A) (A) soumy, opermey (R) &ifl

(B) (A) nmmid (R) @resor(id &ifl, Goavid (R) etestigl (A) elm@& siflwimeor ellengssin.

(O (A) &1, spermey (R) seum

(D) (A) wmmib (R) @ueorid &ifl, apeormey  (R) eterig (A) ellm@ Frflwimer ellemgssin

S{6V6V.
(E) ellemL s flwelevemev CCS2E/2022

63. Choose the stronger acid in each of the following pair.

1. H;0* or H.O 2. NH,*or NH;4

3. H.S or HS- 4. H,0 or OH-

(A) Hy0*, NH,", H,S, H.O (B) H.0, NH, HS-, OH-
(C) H;0+, NH,, HS-, H.O (D) H.0, NH,*, H.S, OH-

(E) Answer not known
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ECL Q&HETHSHHILLB6TET eealQeum@m Cmiquian aedenn WG Wlusanss Csre]

Q& WIWe]Lh.

1. H;0* or H.O 2. NH,+or NH;4

3. H.S or HS- 4. H>O or OH-

(A) H;0*, NH,*, H.S, H.O (B) H.O, NH5 HS-, OH-

(C) H;0+, NH3, HS-, H,O (D) H.O, NH,*, H,S, OH-

(E) eflevL Qs flueievemney CCS2E/2022

64. The interaction of biotic potential with environmental resources, as seen in populations
showing the S-shaped growth curve, as :
dN/dt = rN(N — k) / Kwhere N is the number of individuals in the population, t is the time,
r is the biotic potential of the organism concerned and K stands for
(A) Carrying capacity (B) Maximum population size
(C) Particular habitat (D) Biomass
(E) Answer not known
S - allgel aeTIESR eauemeTemels &HTL(BIWD N&HHT QS5TensHUNey &mevorliLGeug GLImey
&M MIF L6V QU6THIGEBL 60T meoT 2 WITfluieh 9ummedeT Q& ITLITL :
dN/dt = IN(N — k) / K @mi@ N aeTlgl 1n&56T QFHTendsulley 2 6Tem & e6oflBLIFgereor
6T600T 600118560085, T 6T6dTLIGI GBITLD, T 6T60TLIG FIDLBSLILIL L 2 ulliflergEer 2 uliflwev & meor,
wmmid K ereorigl

(A) 5THRIGLD Hmeor (B) SIH&LILG IDGGH6T Q&Tend 66
(©) &ML L surpedlL_Lb (D) 2 WllFLIQummeT
(E) allemL s flwelevemev CCS2E/2022

65. Consider the following statements :
Assertion (A) Simorgh (phoenix) launched two satellites.
Reason (R) : It is a satellite carrier rocket
Now select your answer scheme given below :
(A) Both are true (B) Both are false
(C) (A) is false and (R) is true (D) (A) is true and (R) is false
(E) Answer not known
BLDG>55600T L 6118 WIEIH 60 6TS &H66ofl :
Famm (A) : ACLMFsE (Seoflden) @ueor( QFWMHenHS CoHTeTHemeT 61l evorevorlev
QFVSH WS
&yeoorld (R) : @& QFWMHenssH CHMeTHmM6T T(hSHSHF QFID 6a|H6VID LG LD.
ECL GMILILNL Q6T &MU 1g6v Fiflwimer ellemLemuls CHTHOS (M
(A) @pevor(pLd Fiflwimeorsl
(B) @ueorQILh Seumens)
(C) (A) sauprerg! LOoID (R) Frflwmers
(D) (A) flwrmerigl poid (R) geuprers
(E) el Qaflweillsvemey CCS2E/2022

66. Virtual G20 digital Economy Ministers Summit 2020 was organised by
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(A) Saudi Arabia (B) Iran

(C) Iraq (D) Kuwait

(E) Answer not known

QuUWFBIET G20 erevoreool W6y QUITHETTSTT WHHF1H6T Snl LD 2020 @6V 6THS HITL_ LMV

SIMDEHLILILLGI?

(A) 7oy GrLlwim (B) mymesr

(C) ryms (D) eemeus

(E) allemL s flwelevemey CCS2E/2022
67. Where is the largest solar power project of India located?

(A) Rajasthan (B) Karnataka

(C) Andhra Pradesh (D) Gujarat

(E) Answer not known
@b wmeller WasLQUlw G&Giflw WeTFES S L LD 6THIG BloialiLiL (K eTers?

(A) pregervg meot (B) symrL&sm
(C) aBSrulyesesd (D) ®xrrs
(E) eflev Qs flualevemney CCS2E/2022

68. Justice D. Murugesan Committee has been constituted in 2021 to look into the matter of
(A) Reservation for Government school students in Tamil Nadu Police Service
(B) Reservation in Public Sector Units
(C) Enrolment ratio of Government School students in Professional Courses
(D) NEET Examination
(E) Answer not known
2021 60 BHWFFT D. WHECHF 6T & STHWGMS QLT MTW S eMN&SLILLLGI?
(A) ojp&L1 LeTerfl IDMETOTEU T8 EH& &S SLOBHTH &Talev Slemmuiley @ L @F516HE D
(B) Qunmaissienm mlomialerkigerflev @)L &6 8 h
(C) asmdimassaluiley oraLiuerTer] Womeooreu & erfletr GFI&Hema all& &L
(D) B Ga ey
(E) el Qaflueilsvemey CCS2E/2022

69. Read the following passage and answer the item that follow. Your answer to this item should
be based on this passage only
PASSAGE
Education management information system has been brought online where in the database
of every school, teacher and students in Government, Government aided and private schools
are maintained on real time basis. Using this information several tasks are automated,
simplified and reported everyday.
Which one of the following is best implied in the passage?
(A) Government has control over school
(B) It helps government in taking well informed policy decision
(C) Different stakeholders are involved in the system
(D) It is beneficial to the school authorities and students
(E) Answer not known
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ECL Q&EMH&SLILL (6T LUsHemuwll LSS allermallm@ ellemLWeflésa . 2 Big&Hengl
aflemLwmenrs SLLTWTSEL USHUN6T gl uiley eTQ&ESLULULLETE @) HHSH
Geuevor(hLD.

&H6La GLOGVITEOOTEMLD & &H6U6D 3|eMLOLIL]| 6T60TLISI @) 6m600T WL e WITH S Q& mTevor(HleuTLILIL (&
QE&MEOTIQ(HERME. AHV &, IT&HF 2. S5euUmID WHmID Seflwmy Leiterflaerfler
A flwiy LM MILD LD IT600T6U [§ 85 611 60T ) 55616056 euaulICUMS!
GFaflGaHLILMBROTMET. @)5H550160&HM6TL] LUWaTURSSH AH& QFweuLImT(H 6T Ters
ST @WSHHLILMGReTmenT, ereflameslU@Sarmer. GCain BTeTCHMMID 3Ml&ens
FOFLIN 88 L1 ([H ) 60Tm 60T.

B LD G 556007 L6UMMIGT 6T&H FIMLILITET G MMTSH (600U LD?

(A) A Mm@ L ueTerflgeT L& mer &L GILILIT(H)

(B) ®\mLILITeoT 5856160 ELOGVLDITEIT QI&TETEN S (PILQU[H S ATH MG @& 2-5e]LD.

(C) @6usuemLILIMeY L6LGaIMI STLILILL LUBIGSSTTTSH6T LIMKIG & H & SI6T6emer.

(D) ueiterfl BlFeUMEHSH MGLD LDMMILD LOTETTEU TS EHSHEGD @& LIWLISI6TOTS TS @) [HE G0
(E) allemL s flwelevemey CCS2E/2022

~70. Choose the correct answer
Given the situation due to COVID-19, the net borrowing ceiling of the states were enhanced

to of GSDP in 2021.
(A) 4 percent (B) 3.5 percent
(C) 5 percent (D) 6 percent

(E) Answer not known
Frflumer ellemLemwsd CHIHOSM
Gammalll -19 &MIeoTOMg: ML L @GLhBleneuuiley, InMBleumkigerfleir Bl&T &L 6T 2 FFalyiL]

2021 @6v GSDP-ullesr && CLMUBISSLILILL S

(A) 4 56fs1D (B) 3.5 #56isLd

(O 5 z6aiz1d (D) 6 sz6fs1d

(E) allemL s flwelevemey CCS2E/2022

71.  Which article of the Constitution states that the state to secure a social order for the
promotion of welfare of the people?
(A) Article 38 (B) Article 39
(C) Article 37 (D) Article 36
(E) Answer not known
D& 6T HeVeM 6T GG SHIISMETSH 62(H FENS R(LMIMSH T8 LIMSIHTES GeUevor(hLD
6TeoTMl 6TH S AHTH WevemnliL] &L L LN fle sa &S maI?

(A) L LU ley 38 (B) L Lu9ley 39
(©) sLLulifley 37 (D) L ffley 36
(E) allemL s flwelevemey CCS2E/2022

72. Which of the following is/are true?
(i) Reformation may be identified with partial changes in the value system and
consequential changes in the quality of relationships.
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73-

74.

(i) Transformation changes are characterized with radical changes in the total system

(A) (i) only (B) (ii) only

(C) (1) and (ii) (D) None of the above

(E) Answer not known

G LD & 55 Tevor LiIemeu S 6rflev 6181/6Temel &ifl?

(1) Framssld eaarUg LHUL el ghudld UGS WLIHMBEISET WHMILD
o2 maller HIH5HL goOUBL  aflemerey FHIUWMET DTMHMMBISGETTEY 60 WITETLD
&IT600T LILIL_ 6VITLD.

(i) 2-@mwrmm LOITH M BIS 6T QUMEs L6y Felliy LD IT (D ) 161 &5 (676 L_ 60T
Qe & LILIH &5 LILI[H G 60T M 60T.

(A) (i) wLEW (B) (il) LI

(©) (@) haud (ii) (D) erglaib Si6v6v

(E) allemL s flwealevemey CCS2E/2022

According to the NITI Aayog’s health index (2021), , and emerged

as the top three states in India.

(A) Uttar Pradesh, Assam and Punjab

(B) Kerala, Tamil Nadu and Telangana

(C) Andhra Pradesh, Maharashtra and Gujarat

(D) Punjab, Karnataka and Haryana

(E) Answer not known

2021 g1h 600T(H QeuefuWllL LIl L BIFH S,CUWIMEHER 6T &HMTHMTTeH GmIUTL1q6oTLIg

LOMHMILD G IDTHIVBIGET (NS6V  CLNGTMI @)L MBI 6m6TL

L9119 & Sl6iTermeoT.

(A) 2597011 NCIs&Lh, 96VervTd MMILD LIEHETL

(B) Gagerm, ALDBMTH DMHMILD 656G TeoT T

(O) &b T WNFCsELD, IDSTIMEIYTT IDHMILD GRTTEH

(D) u@harLl, BFBTL&T HMILD emiflwmeorm

(E) allemL s flwelevemev CCS2E/2022

Arrange the following territorial conquests of Alauddin Khilji in the correct chronological

order

1. Ranthambor 2. Malwa

3. Chittor 4. Gujarat

(A) IV, I, IIL, 11 (B) L, IIL, IV, 1I
(O) I, 11, 11, IV (D) IV, TIL, 11, T

(E) Answer not known
eumaHer Hevgbluflest Wetteupd  NopmHHW  QeummlsGeneT  (LenMUITET  SITeV
aIflena LN eTpSIss.

1. JeoTHLOGUIT 2. LDTeV6UIT
3. Bgany 4. RIS
(A)IV, I, III, II (B) I, III, IV, II
O LI, 111, IV (D) IV, IIL, II, I
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(E) allemL s flwelevemey CCS2E/2022

75. Name the first woman who have been jailed for Salt Satyagraha in Madras Presidency?
(A) Rukmini Lakshmipathi (B) Durgabai
(C) Satyawati (D) Swaroop Rani
(E) Answer not known
QLLIMeV OM&MeooTEHEev 2 UL FHERUTRTHESEH FHULBH FemmeE QFaTD (LNSH6V
QLI6voT LD GDDI| WITT?

(A) &Ll evofl VL&A LIS (B) siyasmumul
(C) sgWmauH) (D) eveuemLl ymeoor]
(E) eflevL Qs flueievemney CCS2E/2022

76. According to the Kural; “Gnalam Karuthinum kaikoodum” when a man wants to conquer the
world what are the two things he should keep in mind?
(i) Wealth and Bravery/courage
(ii) Time and Place
(A) (i) only (B) (ii) only
(C) (1) and (ii) (D) None of the above
(E) Answer not known
"@hMeVLD H(HH LD BT (hID” —
GMFaMI HHEHGSMETETLN @Il 2 606D (NWaIMSUID &LILMME &([H5 60TmeY
el 6ThHS @ TevoTenl MBS QFWEILIL. Galevor(HLD?
(1) @Q&sFseuwld efgepLd
(i) smeupld @)L OLD

(A) (1) LG (B) (1) L @b
(©) () wmouid (ii) (D) Guom&smesvild 6Temeu LD |6L6V
(E) allemL s flwelevemey CCS2E/2022

77. ‘Thirukkural and Kamban’s Epic would suffice to build a new civilization even if the present
one is completely erased’. Who said this?
(A) Caldwell (B) G.U. Pope
(C) Veeramamunivar (D) Ellis
(E) Answer not known
2 Rl Brsflesn wWwHobh PHESlLIn HIHEGSMEHLD, ST Smelwdnld
@ HHSH ML CUIMSILD, L6toT(HID HFHemeorl] LSILNG SN L 6VITLD — 6T60TM) S MlUI6U T

(A) smeu(H G 6U6L (B) &l.wy.GurrLl
(C) efywmupesfleur (D) er6veSeiv
(E) allemL s flwelevemev CCS2E/2022

78. During the ‘Later Chola period’, ‘Irayili’ was associated with
(A) Tax free land (B) Taxed land
(C) Tax levied on temple land (D) Tax levied on leasing land
(E) Answer not known
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79-

8o.

hasmeud Campl &MeusH el "@enmuiled” 6TedTLG _ QSTLILenLWSI

(A) aurfl @eveuTs Mlevid

(B) auifl eu@e9&sLILL L Blevld

(C) Gamuwilev BlevsH MG NFE&sLILL L eurf]

(D) 55056 NLLULL BlevsHmamer aulfl

(E) eflevL Qs flueievemney CCS2E/2022

Consider the following statements :

(i) The partition of Bengal in 1905 was the most striking example of the British divide and
rule policy.

(ii) In the Calcutta meeting 1905 Surendranath Banerjee gave call for the boycott of British
goods and institutions

(iii) On 7th August 1905 at Town Hal Meeting in Calcutta, a formal proclamation of Swadeshi
movement was made

Which of the statements given above is/are correct?

(A) (i) only (B) (i) and (iii) only

(C) () and (ii) only (D) (i), (ii) and (iii) are correct

(E) Answer not known

LI edTeU (LD o M1 E 5 60)6TE 85T600TSs.

(i) 1950 -@6v GumGasmaTeTlLULL eumisll Lliflaflemerr owm&GGeowifler Liflgsmesin
Q&M &S WIGEF FIMHS 2_&TT60oT L0 MEGLD.

(ii) 1950-@6L BOLOLMM Q&HMUSESSHT IDMHITL Q60 HCFHHIBTES Umergedl Lflligeq
QUUITIHL_GEMEITULD 5] M6 60T IS 66T WD LM & 860011686 empliLaB\SSTI.

(iii) 1905 &6Vl 7-@ 6 Q&HEMVSHSSHT BHT THIGD HOLAUMM Tl LGH6 &HEHH
@W&SEID GG Wenmwimer SMedlliL] aULPBIGLILIL L SI.

GLM & 600TL T HMIGH6TI6V 6TSI/6Tem6u &FIfl Ul TeoTemew?

(A) () L@ (B) (1) nmoutd (iii) L GILD
(©) (1) wmouid (iii) @D (D) (1), (i1) wmmiibd (iii) Frflumers
(E) allemL s flwelevemev CCS2E/2022

Second Round Table conference of 1931 :

1. It was held during the reign of Lord Wellington as the viceroy of India

2. It was represented by Gandhi on behalf of INC. (Indian National Congress)

Which of the statements given above is/are correct?

(A) 1 only correct (B) 2 only correct

(C) Both 1 and 2 correct (D) Neither 1 nor 2

(E) Answer not known

&).19. 1931940 2600719607 @) TevoTL MU G el L GLnemeg nmBM(H) :

1. QeuedmiLer LT @HS Wmelesr emaleVFmMTS @@He CLIME HeMLQLIMMSI.

2. @BHW CHHW sTRHTFFar NrHBISWTsE &STHH G@UITHITLIG HeubHS
Q&ITEOOTLIT.
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GLOM&600TL T M MIG6TI6V 6TEI/6Tem6l FIflulmeoTemen?

(A)1 (b (B) 2 b (hbd
(C)1wmmib 2 (D) 1 1b &j6L6V, 21D 6LV
(E) eflevL Qs flueievemney CCS2E/2022

81. Alluvial soil is rich in
(A) Humus, Phosphoric acid, Lime and Organic matter
(B) Iron, Lime, Calcium, Potash, Aluminium and Magnesium Carbonates
(C) Iron and Aluminium
(D) Highly Saline and rich in organic matter
(E) Answer not known
6)600T L6V LD 60T PLOGULD QUGITLOITEOTSH TS 2_6ITETSI.
(A) &R W, umsvuflg 3jilevld, grevorevor DL, &1L LITH 6T
(B) @@®LbLy, revorevor TLDL, SMeVS WL, QUL Lmadlwibd, suidleflwid mmid waefadluin
STHLUGe0TL.
(O @by wohaid ojsuidlesflwib
(D) WGBS 2 LiILSSH6Tenn InMHMID HH & &L LITIH6TSH6T

(E) eflevL Qs flueievemney CCS2E/2022
82. Assertion (A) : V.0.Chidambaram established the Swadeshi Steam navigation company.
Reason (R) :  He wanted to oppose the monopoly of the British in Navigation through
the coast.

(A) (A) and (R) are true and (R) is the correct explanation of (A).

(B) (A) and (R) are true, and (R) is not the correct explanation of (A).

(C) (A) is correct and (R) is wrong

(D) (A) is wrong and (R) is correct

(E) Answer not known

Famml (A) C el AsUTD &CHT SLUILIG BlMIaIeTSHmES Q&ML BIG6TTT.

&mgeoorid (R) :  @bHws &L M&T 61 meoof 1 LIS S 6V 31 BIT G ev TS 6rfl 6T

WHNIFlEDWnUl el THFSHSTI.

(A) sapmi (A) omibd (R) &, srgevorid (R), (A) sapeom eflené:GS M.

(B) (A) samo inmmith (R) ssrgevorid &ifl, gpeormev (R) smyevorid (A) dsmenm
afleng & ellevemev.

(C) (A) snmay &1 (R) &M6euorid geum

(D) (A) samo seum (R) smgevorid &l

(E) ellemL s flwelevemev CCS2E/2022

83. Chapter Vof PartV of the constitution provides for a high officer of the Parliament who would
exercise vigilance over the expenditure of public money. He is

(A) Comptroller and Auditor General of India
(B) Finance Minister

(C) Auditor General

(D) Prime Minister

(E) Answer not known
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ATEWe FTFT UGS V-er V-b HHSHWMWD n&sefler (QUTS) LTS ens

&H600T&T6001 188 [HITLMTEBLO6TM&SF60T 62(h 2 WIT AF&Tflemnl BlWLD6Td QFWURMSI. el
U

(A) @BH W FHemevemLD &6001185H6ME LDMMILD & 600TE & TETIT

(B) mI&) oeming&y

(C) mzemevemLn & 6o0fl86m 8 WITETT

(D) YirsLwo wHS I

(E) allevL Gz flwelevemney CCS2E/2022

84. Which article says that, ‘No child below the age of 14 years shall be employed to work in any
factory or in any hazardous employment”?
(A) Article 277 (B) Article 26
(C) Article 24 (D) Article 25
(E) Answer not known
14 QIWZIEHEG B 2 6T6T GRHMSSHET WTHLD QSTPHINTL D VDG SILITUISITLOTET
@LMmIS6 6L Gauemey LIMTT&HEHES Fal_MEl" — @eN&H& Famild &L L L1 fle] erg?

(A) sl LU0 ley 27 (B) s uffley 26
(©) sl LuNfey 24 (D) L9 ley 25
(E) allemL s flwealevemey CCS2E/2022

85. Boothalingam study group is related to
(A) Trade unions (B) Strikes
(C) Lockouts (D) Wages
(E) Answer not known
LY edTeuneueorelMMlev L, &6 BIGHLIN 216185 E (LD THIL 60T QS TLITL|e0LUIS?

(A) QamHlM FkisnIgeT (B) Geuemev BIMIGSLD
(O WL &6T (D) 2er@\uwimiser
(E) allemL s flwelevemey CCS2E/2022

86. Which of the following is not the role of NITI Aayog?
(1) Act as a think tank.
(ii) Power to impose policies on states.
(iii) Funds allocation.
(A) (i) only (B) (1) and (ii)
(C) (ii) and (iii) (D) () and (iii)
(E) Answer not known
B LD 55 600T LU MMI6L 6Temal [B15) -2, GUITE: T 60T Lieoot] @)6vemnen?
(1) 2 2CLTFM6IT G (WR6UTH QFWeeLLI(HeUSI
(i) wrwlevmiserfley S L MiGemer Heoofl& @& 6&F Ul6LS) M 6o

(ii) P16 51660

(A) () LLGBILD (B) (1) omibd (i)

(O (i) whoud (iii) (D) (1) Loomuid (iii)

(E) allemL s flwelevemey CCS2E/2022
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87. Principles of scientific thinking are
(i) Empiricism
(i) Rationalism
(iii) Skepticism
(A) (i) only (B) (ii) only
(C) () and (ii) only (D) (1), (i1) and (iii)
(E) Answer not known
M w6L FH5en6oTUN 60T Q& T6ITE™ 858561
(i) sILIaIaITS D
(i) ueSsMe auTELD
(iii) FHCH&H LD

(A) () L@ (B) (ii) oL @b
(C) () wmoud (i) LLEILD (D) (@), (ii) moud (iii)
(E) allemL s flwelevemey CCS2E/2022

88. How many terms of the series 13 + 23 + 33 + should be taken to get the sum 1296?

(A)6 (B) 7 ©s (D)9
(E) Answer not known

13 + 23 + 33+ ... , 6T60TM QSTLIfl6L THHMET 2 MILIL|EHEM6T Fal 1Q60TTeV Sm(hGH6v 1296
P evL_&@GLD?
(A)6 (B)7 ©)8 (D)9
(E) allemL s flwelevemey CCS2E/2022
89. Find the value of . / 3vV3V3.......
(A) 3t (B) 32 (C) 33 (D) 3¢

(E) Answer not known

LS &Tesord : |3V 3V3.......

(A) 3t (B) 32 (C) 33 (D) 34
(E) allemL s flwelevemey CCS2E/2022

90. The average mark of 25 students was found to be 78.4 Later on, it was found that score of 96
was misread as 69. Find the correct mean of the marks.
(A) 77.32 (B) 79.48 (©) 79.84 (D) 97.84
(E) Answer not known
25 omesoreljserfler Frmnay]l G LIGLe 78.4 @M@ 96 eTedrm WG LILIMTE 69 6T6rs
SHIMIGEVMS 6T(H &G LI L& &evorMIWLILILIL L G. 6Tevf16V, DG L1G) LI600TE5 615 8585 MeoT & [f] Ul meor
FrmaFflenw s &meorss.
(A) 77.32 (B) 79.48 (©) 79.84 (D) 97.84
(E) allemL s flwelevemey CCS2E/2022
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91. If 5 persons can do 5 jobs in 5 days then how many days will it take for 50 persons to finish
50 jobs?
A5 (B) 7 (OX (D) 11
(E) Answer not known
5 BUFSHET 5 GCeuemeudEeneT 5 BTG Q&g wWIgLiLb erevfléy 50 BUTEET 50
BUENELEEMEIT 6T5 G eM 6T BTLG6rflev QF UG (WDIQLILF?
(A5 (B) 7 ©)o9 (D) 11
(E) allemL s flwelevemey CCS2E/2022

92. Areader reads 20 pages of a book in 2 hours in an uniform speed. How much time will it take
to read 50 pages of the same book in the same speed?
(A) 3 hours (B) 4 hours (C) 5 hours (D) 4 %2 hours
(E) Answer not known
@M GOILUILL CaussiHel @b LUSHHH5MGELI LIIG&HGID @MU 20 LIGSHMHIGM6TL LG &HEH
2 1neoofl CBILTHMS! 6Tevflev JjauT ANCH CauHEH U AUCH LISSHHE5TH 6V 50 LIGSHMBIGN6TLI
L) &8 erelaleTe| GHBILDMELD?
(A) 3 evor] (B) 4 wevor] (C) 5 ool (D) 4Y2 nevofl
(E) allemL s flwelevemey CCS2E/2022

93. The difference between the S.I. and C.I. for 2 years for a principal of ¥5,000 at the rate of
interest 8% p.a. is
(A)z32 (B)z35 (©)z38 (D) %42
(E) Answer not known
Z5,000 — & 8% op,600T() UL 19UI6Y, 2 DTN SHEBHEHG SHflalL 185G Sal (R UL 195G W0
@ 6L GwueTerm ellG&HWMEFLD
(A)R32 (B)%35 (C)z 38 (D) 742
(E) allemL s flwelevemey CCS2E/2022

94. The compound interest on ¥5,000 at 12% p.a. for 2 years compounded annually is
(A) Z1,072 (B) 1,172 (C) 21,272 (D) 1,372
(E) Answer not known
75,000 — && 12% 96001 QUL 1QUT6v, 2 Se0T(HHEHEHGS, AL600T(HERQSMTIHLLMM Il 198
SHEOTEHR L LILIL LT HemL &G Sl () 6L L.UIT6TSI
(A) Z1,072 (B) Z1,172 (C) 71,272 (D) %1,372
(E) ellemL s flwelevemev CCS2E/2022

95. At what rate of simple interest, the principle 48,000 will amount to ¥55,560 in 2 years 3
months.
(A) 5% (B) 6% (©) 7% (D) 8%
(E) Answer not known
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31560 48,000 216013 2 9L600T(H&6T 3 DTHEHTVSH MG LetT Sevflaul 19 epeuld QLTSS
QBTG WITE T55,560 34,8 2 WTHSS 6Tevflev aul g efHLD &Tetorss.

(A) 5% (B) 6% (©) 7% (D) 8%

(E) allemL s flwelevemey CCS2E/2022

96. Find the ratio of 3 km to 300 m?
(A)3:10 (B)1o:3 ©1:10 (D)1o:1
(E) Answer not known
3 §).15-8 LD 300 LS L([(HHGSLD @)L Gl 2 616 allHGHLD &Terorss.
(A)3:10 (B)1o:3 (©1:10 (D)10:1
(E) allemL s flwelevemey CCS2E/2022

97. If the population in town has increased from 20,000 to 25,000 in a year find the percentage
increase in population
(A) 50% (B) 25% (C) 75% (D) 100%
(E) Answer not known
@) HHTEHH 60T INSSHETOH TN S 1 34600719 60 20,000-60 (B H S 25,000 - 91,5 25 &5 Sl6T6eng)
6T60fl6V D& &6 Q&M S AR S&FIL] 55655565 5Te0oTs.
(A) 50% (B) 25% (C) 75% (D) 100%
(E) eflevL Qs flueievemney CCS2E/2022

98. If three candidates A, B and C in a school election got 153, 245 and 102 votes respectively,
find the percentage of votes got by the winner?
(A) 48% (B) 49% (C) 50% (D) 55%
(E) Answer not known
A, B, C eredrm Geul_LImen &6 LiaTerfl G5 g e06v QMM 6UMTE & &H6T (LemmEUl 153, 245 LoMMILD
102 eTevflev Qeumm QUMM Caul_LIMeT6T UM F&HeIHHMNSHE &HT600TS.
(A) 48% (B) 49% (C) 50% (D) 55%
(E) allemL s flwelevemey CCS2E/2022

99. HCF and LCM of two numbers are 16 and 240 respectively. If one of the number is 48, then
the other number is
(A) 8o (B) 60 (G 70 (D) 90
(E) Answer not known
@\ eTevorserfledr S.QUIT.6l WMHMID W.QUT.D. WenmGW 16 LDMMID 240 QGLD. Sieual®
6T6u0T & 6116V, €2 (IH 6T600T 48 6T6vtl6V LDMGIMIT(H 6TEDOT6D)6U0TE> & ITEUOT 5.
(A) 8o (B) 60 (G 70 (D) 90
(E) allemL s flwelevemey CCS2E/2022
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100. Wilson, Mathan, Guna can complete one round of a circular track in 10, 15 and 20 minutes
respectively. If they start together at 7 am from the starting point at what time will they meet
together again at the starting point?

(A) 8 am (B) 8 pm (C) 5pm (D) 9 am

(E) Answer not known

ANeLF6IT, INGET, 60T WHCWTT 6@ Ul L eulgellevmer @OUTSUINET @h &Menm
WenmGW 10, 15 Wmmid 20 BIALBISGelev &Ml (P& BTMETT. eUTEH6T QST &L
LeTerflullel &memev 7 LD6OO&HEG RETMMTHEF &MHMES QSMTLBIH T, eFsHeT Lievor(h LD
TLIGUME QBTLESLI L6Teflullel epedTmMEE FHS LILIMTTSH6T?

(A) 8 wo.Lu. (B) 8 L9.L. (©) 5 9.1 (D) 9 ap.Lu.

(E) eflevL Qs flueievemey CCS2E/2022
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